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Fall'11-Spring'12 run plan CirCU ar on
P(H)= +0.148
g14 - E06-101
Load 14a test tgt into IBC : . P(D)= +0.265
machine startup 8 ‘ 11111
commissioning with tgt 14a 10 £ CerU ar on
remove 14a IBC ! " P(H): -0.107
Load silver 21a tgt to IBC : - P(D): +0.217
j [T
Ciron P(H)P(D)| 0.8-2.1] 6 Cir |1543-2196] 2285 | 4 ' ! Circular on
flip (AFP) P(H) in 21a ' 1 _
Ciron P(H)P(D)| 0.8-2.1] 9 | Cir |15432196| 2285 | 4 ; : P(H)=—0.001
wipe H pol in 21a ' L P(D)= +0.217 Circular on
Ciron P(D)[0.8-2.1] 1 Cir |1543-2196] 2285 4 el P(H)=-0.010
rotate D pol in 21a ! n LT =~V ]
CironP(D)[0.8-21] 5 | Cir |1543.219| 2285 | 4 E=== P(D)= —0.099 HDI test with
LLHATTIT ] electrons
Ciron P(D)[0.8-2.1| 38 Cir [1543-2196| 2258 2 I T e e =
transfer (SFP) D => H in 21a ’ —
switch beamline & IBC: gam to 12
e+HD tests... 7 ﬁ%
1 |switch beamline: e to gam !
2 |Remove 21a; load EMPTY cell... 2 ﬂ ‘
‘ |
Cir on empty| 0.8 - 2.1 6 Cir |1543-2196| 2285 2 = i
Remove EMPTY; load 20b... 3 = C rcular on
(Sp-Hall A) Cir on P(D)+z / P(H)+z| 1.0-2.4| 5 Cir |1660-2320] 2537 3 === (D), P(H)
1 |Flip H (AFP) in 20b i '
(Sp-Hall A) Ciron P(D)+z/ P(H)—z| 1.0-24| 5 Cir |1660-2320 2537 3 - 4 - Linear on
-Ha iron +Z —z| 1.0- 2. ir -
: +P(D),—P(H)
tune up coherent brem 1
Linon P(D)+z/ P(H)—z|2.2-2.4| 7 Lin |2238-2320| 5542 5 L 1 | \ Linear on —P(D —P(H F
Linon P(D)+z/P(H)—z| 2.0 - 2.2 6 Lin |2153-2238| 5542 5 [: 1 } | ’
Linon P(D)+z/ P(H)—Z| 1.8-2.0| 6 Lin |2064-2153] 5542 5 E [ ]
Linon P(D)+z/P(H)—z|1.6-1.8 6 Lin |1970-2064| 5542 5 r 1
L]
Remove 20b, load 19b... 9
¥
Linon P(D)z/P(H)z|22-24| 7 Lin |2238-2320] 5542 5 _ .
Linon P(D)-z/P(H)-z|2.0-2.2 6 Lin |2153-2238| 5542 5 r 1
Linon P(D)-z/ P(H)-z| 1.8 - 2.0 6 Lin |2064-2153| 5542 5 E 1 &
Linon P(D)-z/P(H)—z|16-18| 6 Lin [1970-2064| 5542 5 T
' 12 GeV shutdown |
12 GeV shutdown 0 ®
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